k2 | Estimate Quotients Up to 10,000

Name:

1]

Estimate which sign makes the sentence true

02 = 5728

%]

Estimate which sign makes the sentence true

87375

|£J

Estimate which sign makes the sentence true

96 +-579
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Name:

M

Estimate which sign makes the sentence true

07 =-2710

|45

Estimate which sign makes the sentence true

822751

@

Estimate which sign makes the sentence true

67 -5730
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Name:

1#7]

Estimate which sign makes the sentence true

76 =-2750

|4

Estimate which sign makes the sentence true

6b =-5749

|ﬁJ

Estimate which sign makes the sentence true

719+-276
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Name:

#10

Estimate which sign makes the sentence true

7522749

#11

Estimate which sign makes the sentence true

88 +3716

#12

Estimate which sign makes the sentence true

o7 2724
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tJ? | Estimate Quotients Up to 10,000 Answer Key
Question Answer
#1 choice 1
#2 choice 1
#3 choice 1
#4 choice 2
#5 choice 2
#6 choice 1
#7 choice 1
#8 choice 2
#9 choice 2
#10 choice 1
#11 choice 2
#12 choice 2
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